

Republic of the Philippines PROVINCE OF ISABELA City of Ilagan

OFFICE OF THE BIDS AND AWARDS COMMITTEE NOTICE OF AWARD

May 25, 2022

MS. IRISH JANE T. CRISTOBAL
Proprietor
ISAIAH 8:15 ENTERPRISES
District II, Cauayan City, Isabela

Dear Ms. Cristobal,

We are happy to notify you that the Supply and Delivery of Various Catering Items for the Province of Isabela in the amount of PhP1,711,353.75 is hereby awarded to you as the Bidder with the Lowest Calculated Responsive Bid.

ITEM NO.	QTY	UNIT	DESCRIPTION	UNIT PRICE (PHP)	TOTAL BID PRICE (PHP)
1	100	pieces	#188 plates	₱118.80	₱ 11,880.00
2	22	sets	1 SET BAKING PAN	₱3,300.00	₱72,600.00
3	1	pieces	1 unit Stainless Steel Color Coated Noodle Dough Mixer	₱ 13,200.00	₱13,200.00
4	2	pieces	12 HOLES DOUGHNUT PAN	₽ 420.00	₱840.00
5	50	pieces	223-A Platter	₱66.00	₱3,300.00
6	2	sets	3 Layer Aluminum Steamer 36cm	₱1,950.00	₱3,900.00
7	6	pieces	350 Pail Blue RM	₱158.00	₱948.00
8	5	sets	3in1 BURGER GRILL WITH DEEP FRYER AND STEAMER (WITH COMPLETE COOKING KITS)	₱18,088.56	₱90,442.80
9	10	pieces	50x35 stainless tray	₱198.00	₱1,980.00
10	150	pieces	6M-37 glass MR	₱33.00	₱4,950.00
11	5	sets	8L Stainless Steel Juice Dispenser with Stand	₱3,750.00	₱18,750.00
12	24	pieces	Alcohol lamp	₱65.00	₱1,560.00
13	5	pieces	ALCOHOL LAMP INCUBATION	₱105.60	₱528.00
14	1	pieces	Aluminum pot (kaldero)	₱462.00	₱462.00
15	1	pieces	Aluminum Pot with Double Handle 30x30x21cm	₱1,200.00	₱1,200.00
16	2	pieces	Aluminum steamer	₱1,040.00	₱2,080.00
17	5	pieces	Aluminum Steamer 3 Layer	₱1,950.00	₱9,750.00
18	5	pieces	baking tray	₱180.00	₱900.00
19	10	pieces	Bamboo Steamer with cover fabricated bamboo tray	₱330.00	₱3,300.00
20	6	pieces	Basting Spoon	₱264.00	₱1,584.00



21	10	nionan	Bibingka Molder	₱300.00	₱3,000.00
21	10	pieces	Big Jar for Storage	₱6,732.00	₱13,464.00
22	2	units		₱1,125.00	₱5,625.00
23	5	pieces	BIG KAWALI	₱1,980.00	₱3,960.00
24	2	pieces	Big Knife (Machu)	₱450.00	₱6,300.00
25	14	boxes	Bowl (1doz per box)	₱112.50	₱337.50
26	3	sets	BREAD KNIFE Burger Turner/flipper spatula	₱105.60	₱316.80
27	3	pieces	Butcher knife (big)	₱132.00	₱1,320.00
28	10 3	pieces pieces	CAKE DECORATING NOZZLE SETS	₱376.50	₱ 1,129.50
30	2	pieces	CAKE STAND	₱660.00	₱1,320.00
			CALDERO	₱1,500.00	₱4,500.00
31	3	pieces	CALE TURNTABLE	₱135.00	₱135.00
33	3	pieces	CASEROLA	₱3,960.00	₱11,880.00
34	3	sets	Caserole (set)	₱1,980.00	₱5,940.00
35	2	pieces	Caserole (set)	₱396.00	₱792.00
36	2	pieces	caserole, stainless (big)	₱1,500.00	₱3,000.00
37	5	pieces	Casserole Big	₱792.00	₱3,960.00
38	1	pieces	Cast Iron (Kawa or bath) size 42	₱3,960.00	₱3,960.00
39	3	pieces	CATTLE	₱750.00	₱2,250.00
40	6	pieces	Cawa MYRN	₱1,980.00	₱11,880.00
41	2	sets	CHAFFING DISH	₱3,960.00	₱7,920.00
42	15	pieces	Chafing Dish- Food Warmer	₱264.00	₱3,960.00
43	3	pieces	CHAFING DISH ROUND(ELECTRIC)	₱5,280.00	₱15,840.00
44	1	sets	CHANDILLIER	₱6,600.00	₱6,600.00
45	1 ·	pieces	CHEF KNIVES SET, 22PCS	₱13,200.00	₱13,200.00
46	12	pieces	Chopper Knife	₱224.00	₱2,688.00
47	22	pieces	Chopping Board	₱247.50	₱5,445.00
48	10	pieces	Chopping Board	₱343.20	₱3,432.00
49	5	pieces	Chopping board (big)	₱66.00	₱330.00
50	2	pieces	Chopping board 26cmx36cm	₱142.50	₱285.00
51	2	rolls	cling wrap, jumbo	₱450.00	₱900.00
52	1	sets	Coconut grater	₱3,750.00	₱3,750.00
53	2	pieces	Coffee Airpots	₱3,300.00	₱6,600.00
54	2	pieces	commercial juice jag (big)	₱225.00	₱450.00
55	5	pieces	Cooking Vat for cover	₱198.00	₱990.00
56	100	pieces	CUP	₱66.00	₱6,600.00
57	15	pieces	Cup and Saucer	₱396.00	₱5,940.00
58	50	pieces	Cups	₱60.00	₱3,000.00
59	12	bales	CUPS	₱60.00	₱720.00

		<u> </u>	T	BC0.00	2 420.00
60	7	bales	CUPS 100Z	₱60.00	₱420.00
61	7	bales	CUPS 3Z	₱37.50	₱262.50
62	7	bales	CUPS 60Z	₱45.00	₱315.00
63	7	bales	CUPS 80Z	₱52.50	₱367.50
64	4	pieces	CUTTING BOARD, FIBER 4CM	₱693.00	₱2,772.00
65	4	pieces	CUTTING BOARDS, WOOD 4CM	₱396.00	₱1,584.00
66	5	pieces	Deep Frying pan (medium)	₱525.00	₱ 2,625.00
67	200	pieces	DINNER PLATE, 10"	₱132.00	₱26,400.00
68	10	sets	Display Risers	₱3,300.00	₱33,000.00
69	5	pieces	DISPLAY STAND	₱594.00	₱ 2,970.00
70	1	pieces	DRYER BAKING TOOLS COOLING	₱ 448.50	₱448.50
71	4	sets	Food Lamp Warmers	₱1,980.00	₱7,920.00
72	2	pieces	Food Storage	₱1,980.00	₱3,960.00
73	2	pieces	FOOD STORAGE CONTAINER/HOT FOOD PAN	₱1,980.00	₱3,960.00
74	10	pieces	Food warmer	₱660.00	₱6,600.00
75	98	pieces	Food Warmer	₱300.00	₱29,400.00
76	3	pieces	Food warmer with stand	₱5,016.00	₱15,048.00
77	1	pieces	FOOD WARMING CABINET	₱26,400.00	₱26,400.00
78	100	pieces	Fork	₱225.00	₱22,500.00
79	10	dozens	Fork	₱225.00	₱2,250.00
80	30	boxes	Fork (2 doz per box)	₱225.00	₱6,750.00
81	28	dozens	Fork (2 dozens per box)	₱225.00	₱6,300.00
82	75	pieces	Fruit Trays	₱373.50	₱28,012.50
83	2	pieces	Frying pan	₱750.00	₱1,500.00
84	13	pieces	Frying Pan	₱750.00	₱9,750.00
85	4	pieces	frying pan (big)	₱1,100.00	₱4,400.00
86	4	pleces	frying pan (medium)	₱975.00	₱3,900.00
87	2	sets	FRYING PAN (S, M, L) SET	₱7,920.00	₱15,840.00
88	1	sets	Frying Pan Set	₱3,960.00	₱3,960.00
89	3	pieces	Funnel (stainless, big)	₱142.15	₱426.45
90	3	units	GAS Griddle Burger	₱3,168.00	₱9,504.00
91	5	trays	GLASS	₱462.00	₱2,310.00
92	5	pieces	GLASS TRAY	₱198.00	₱990.00
93	100	pieces	GLASS/GOBLET	₱143.88	₱14,388.00
94	50	pieces	GLASS/GOBLET, SET	₱481.80	₱24,090.00
95	40	sets	Goblet Glass, set	₱481.80	₱19,272.00
96	10	pieces	Goblet Rack	₱660.00	₱6,600.00
97	4	pieces	GRINDER W/ EXTRA CUTTING	₱3,300.00	₱13,200.00
7/	T	Picco	with the same and sam	. 5,500.00	r 13,200.00

99	1	pieces	Ice Crusher	₱330.00	₱330.00
100	1	pieces	ICE MACHINE	₱8,000.00	₱8,000.00
101	10	pieces	Ice tong	₱79.00	₱790.00
102	4	pieces	Juice container with ladle 10L capacity	₱345.00	₱1,380.00
103	13	pieces	Kaldero	₱1,500.00	₱19,500.00
104	1	pieces	kaldero	₱1,500.00	₱1,500.00
105	2	units	KALDERO - BIG	₱1,500.00	₱3,000.00
106	2	units	KALDERO - BIG	₱2,250.00	₱4,500.00
107	2	pieces	kaldero (# 1)	₱4,500.00	₱9,000.00
108	3	pieces	kaldero (big)	₱2,250.00	₱6,750.00
109	1	pieces	Kaldero (XL)	₱3,960.00	₱3,960.00
110	1	pieces	KALDERO, L	₱3,696.00	₱3,696.00
111	3	pieces	KALDERO, XL	₱4,752.00	₱14,256.00
112	2	pieces	KAWA	₱750.00	₱1,500.00
113	1	pieces	kawali	₱750.00	₱750.00
114	1	pieces	KAWALI BIG	₱1,125.00	₱1,125.00
115	20	pieces	KAWALI SMALL USE FOR PLATE	₱330.00	₱6,600.00
116	2	pieces	Kawali XL	₱6,600.00	₱13,200.00
117	10	sets	Kitchen / Sewing Spoon	₱792.00	₱7,920.00
118	25	boxes	Kitchen Hairnet Cap	₱50.40	₱1,260.00
119	2	pieces	kitchen knife	₱300.00	₱600.00
120	1	sets	kitchen knife (set)	₱2,661.00	₱2,661.00
121	1	sets	Kitchen knife set	₱792.00	₱792.00
122	15	pieces	KITCHEN SPOONS, SERVING SPOON	₱231.00	₱3,465.00
123	1	sets	Kitchen utensils set	₱396.00	₱396.00
124	4	pieces	Knife	₱330.00	₱1,320.00
125	5	pieces	KNIFE	₱264.00	₱1,320.00
126	4	pieces	Knife big	₱105.60	₱422.40
127	5	pieces	Knife Big	₱145.20	₱ 726.00
128	14	sets	Knife Set	₱750.00	₱10,500.00
129	10	pieces	Knife Small	₱132.00	₱1,320.00
130	2	sets	knife stainless steel	₱660.00	₱1,320.00
131	20	pieces	Knives	₱132.00	₱2,640.00
132	20	pieces	Laddle #4 MA serving dish	₱26.40	₱528.00
133	6	pieces	Laddle #7	₱132.00	₱792.00
134	10	pieces	Ladle	₱396.00	₱3,960.00
135	6	pieces	Ladle #9	₱264.00	₱1,584.00
136	18	boxes	Ladle (1 dozen per Box)	₱396.00	₱7,128.00
137	10	pieces	Lamps	₱660.00	₱6,600.00

138	5	rolls	Lines	₱158.00	₱790.00
139	2	sets	Measuring cup	₱330.00	₱660.00
140	3	pieces	MEASURING CUP AMD MEASURING SPOON STAINLESS STEEL	₱475.50	₱1,426.50
141	3	pieces	Measuring cup x liter	₱660.00	₱1,980.00
142	1	pieces	Measuring cups	₱132.00	₱132.00
143	5	sets	Measuring Cups	₱66.00	₱330.00
144	2	pieces	MEASURING SPOON	₱792.00	₱1,584.00
145	2	sets	Measuring spoon	₱330.00	₱660.00
146	6	pieces	Medium knife 8"	₱75.00	₱450.00
147	2	units	MIXERS HEAVY DUTY	₱ 2,376.00	₱4,752.00
148	6	pieces	Mixing bowl	₱396.00	₱2,376.00
149	10	pieces	Mixing bowl (big)	₱198.00	₱1,980.00
150	5	pieces	MIXING BOWLS, 2.5L	₱924.00	₱4,620.00
151	50	pieces	Molder /Hulmaan	₱20.00	₱1,000.00
152	1	pieces	NON STICK BAKING BROWNIE PAN W/ 18 DRIVERS TRAY MOLDER	₱522.00	₱522.00
153	3	pieces	Palayok	₱1,056.00	₱3,168.00
154	1	pieces	PAN RACKS	₱11,088.00	₱11,088.00
155	4	pieces	PAN, 1/3	₱660.00	₱2,640.00
156	7	pieces	PAN, 1/4	₱660.00	₱4,620.00
157	10	pieces	Pitcher big MKE	₱264.00	₱2,640.00
158	20	pieces	Plastic Jag	₱870.00	₱17,400.00
159	3	pieces	Plastic pitcher 1800ml capacity	₱75.00	₱225.00
160	17	dozens	Plate (1doz per box)	₱ 1,264.00	₱21,488.00
161	30	pieces	PLATE FLAT WHITE	₱264.00	₱7,920.00
162	10	pieces	plate rack	₱660.00	₱6,600.00
163	2	dozens	Plates (glass, big)	₱396.00	₱792.00
164	7	pieces	POTS, STAINLESS	₱2,376.00	₱16,632.00
165	22	units	Pressure Cooker	₱2,800.00	₱61,600.00
166	10	dozens	Puto cups moulder large 7.5cm (by 12s)	₱60.00	₱600.00
167	10	dozens	Puto cups moulder medium 6cm (by 12s)	₱52.50	₱525.00
168	50	pieces	puto Molder	₱7.50	₱375.00
169	400	pieces	Puto Molder (L)	₱26.00	₱10,400.00
170	5	pieces	Puto molder (large)	₱60.00	₱300.00
171	300	pieces	Puto Molder (M)	₱20.00	₱6,000.00
172	100	pieces	Puto Molder (S)	₱13.00	₱1,300.00
173	15	pieces	Rectangle stainless food warmer/ tray with cover 32x26x8cm	₱150.00	₱2,250.00
174	3	pieces	RECTANGULAR CHAFFINNG BUFFET, SET, FOLDING FRAME	₱5,280.00	₱15,840.00
175	2	pieces	RECTANGULAR CHAFFINNG BUFFET, SET, FOLDING FRAME	₱7,656.00	₱15,312.00

Dana E of 0

176	2	sets	Rectangular Folding Chaffing Buffet Sets	₱7,656.00	₱15,312.00
177	2	pieces	Rubber maid cooler (34 qts)	₱3,960.00	₱7,920.00
178	1	pieces	RUBBER SPATULA	₱132.00	₱132.00
179	2	pieces	RUBBER SPATULA	₱3,168.00	₱6,336.00
180	200	pieces	SALAD PLATE, 7"	₱105.60	₱21,120.00
181	2	pieces	SANDOK BIG	₱396.00	₱792.00
182	2	pieces	SANDOK SET	₱450.00	₱900.00
183	150	pieces	SAUCER	₱66.00	₱9,900.00
184	14	dozens	Saucer (2 dozens per box)	₱600.00	₱8,400.00
185	50	pieces	Saucers	₱66.00	₱3,300.00
186	14	dozens	Serving Spoon (1 doz per box)	₱450.00	₱6,300.00
187	2	pieces	serving tray	₱600.00	₱1,200.00
188	5	pieces	SERVING TRAYS	₱600.00	₱3,000.00
189	5	pìeces	SERVING UTENSILS	₱660.00	₱3,300.00
190	2	packs	Set of 4 Chisel (Licup)	₱1,584.00	₱3,168.00
191	10	pieces	Silyasi	₱3,960.00	₱39,600.00
192	2	pieces	SILYASI	₱4,037.65	₱8,075.30
193	2	pieces	silyasi / talyasi, size 34	₱2,250.00	₱4,500.00
194	6	pieces	Siyanse #9	₱264.00	₱1,584.00
195	4	pieces	SLATED SPOON	₱330.00	₱1,320.00
196	12	pieces	Slicer Knife	₱66.00	₱792.00
197	8	pieces	Small Wooden Ladle (with handle)	₱396.00	₱3,168.00
198	3	pieces	Smithed knife	₱396.00	₱1,188.00
199	50	pieces	soup bowl	₱39.60	₱1,980.00
200	150	pieces	SOUP BOWL, 6"	₱79.20	₱11,880.00
201	50	pieces	Soup Bowls	₱39.60	₱ 1,980.00
202	2	pieces	SPAGHETTI SPOON	₱450.00	₱900.00
203	1	sets	Spaghetti Spoon/Fork	₱1,320.00	₱1,320.00
204	10	pieces	Spatula	₱396.00	₱3,960.00
205	2	pieces	SPC 10 quartz Jar	₱1,716.00	₱3,432.00
206	1	pieces	SPICE GRINDER	₱5,280.00	₱5,280.00
207	100	pieces	SPOON	₱19.80	₱1,980.00
208	10	dozens	SPOON	₱198.00	₱1,980.00
209	58	boxes	Spoon (2 doz per box)	₱450.00	₱26,100.00
210	40	sets	Spoon, Fork, Knife, set	₱528.00	₱21,120.00
211	50	pieces	SPOON, FORK, KNIFE, TEA, SPOON, SET	₱660.00	₱33,000,00
212	4	pieces	SPOT LIGHTS	₱660.00	₱2,640.00
213	1	pieces	stailess food tray	₱195.00	₱195.00
214	2	pieces	stailess steel food tray, large	₱225.00	₱450.00

Dana E of

215	2	pieces	stailess steel food tray, medium	₱195.00	₱390.00
216	2	pieces	stailess steel food tray, small	₱150.00	₱300.00
217	2	pieces	Stainless Anchor Size 1.5 m	₱ 15,840.00	₱31,680.00
218	5	pieces	Stainless Basin	₱640.20	₱3,201.00
219	7	pieces	Stainless Basin 50cm	₱300.00	₱2,100.00
220	4	pieces	Stainless Basin Bowl	₱330.00	₱1,320.00
221	3	units	Stainless Charcoal Griller with stand 19"x12"	₱2,250.00	₱6,750.00
222	6	pieces	stainless food warmer	₱223.50	₱1,341.00
223	3	pieces	Stainless fork	₱132.00	₱396.00
224	3	dozens	Stainless fork (by 12s)	₱75.00	₱225.00
225	2	units	STAINLESS FRIER	₱1,800.00	₱3,600.00
226	1	pieces	STAINLESS KASEROLA	₱4,500.00	₱4,500.00
227	9	pieces	Stainless Ladle XL	₱396.00	₱3,564.00
228	1	sets	Stainless Measuring cups	₱264.00	₱264.00
229	21	pieces	Stainless mixing bowl 30cm	₱660.00	₱13,860.00
230	2	dozens	Stainless Serving spoon 11" (by 12s)	₱150.00	₱300.00
231	2	Sets	Stainless skimmer/strainer with long handle 18cm	₱105.00	₱210.00
232	3	pieces	Stainless spoon	₱132.00	₱396.00
233	3	dozens	Stainless spoon (by 12s)	₱75.00	₱225.00
234	1	pieces	stainless steamer, large	₱1,135.00	₱1,135.00
235	3	pieces	Stainless steel Casserole 30cm	₱750.00	₱2,250.00
236	12	pieces	Stainless steel Food tong 14"	₱75.00	₱900.00
237	6	pieces	Stainless steel Ladle 20"	₱150.00	₱900.00
238	6	pieces	Stainless steel Spatula 20"	₱150.00	₱900.00
239	14	pieces	Stainless Strainer	₱65.00	₱910.00
240	13	units	STAINLESS TRAY	₱300.00	₱3,900.00
241	10	pieces	Stainless tray (big)	₱165.00	₱1,650.00
242	1	pieces	STAND MIXER - 3 LAYER BREAD COOLONG RA	₱7,350.00	₱7,350.00
243	2	pieces	Steamer	₱1,950.00	₱3,900.00
244	3	pieces	Steel food tongs	₱45.00	₱135.00
245	1	pieces	strainer	₱96.00	₱96.00
46	3	pieces	STRAINER	₱375.00	₱1,125.00
47	4	pieces	talyasi / silyasi (big)	₱2,700.00	₱10,800.00
48	20	pieces	Tissue Holder	₱80.00	₱1,600.00
49	5	pieces	Tong	₱132.00	₱660.00
50	6	pieces	tong big	₱330.00	₱1,980.00
51	10	pieces	tong small	₱198.00	₱1,980.00
52	2	pieces	TRAYS	₱375.00	₱750.00
53	10	pieces	Vases	₱86.00	₱860.00

	Total Bid	Price			₱1,711,353.75
			x-x-x-x-nothing follows-x-x-x-x		
268	2 .	pieces	Work Spatula	₱150.00	₱300.00
267	2	pieces	Wooden Spoon	₱198.00	₱396.00
266	8	pieces	Wooden Ladle (with handle)	₱924.00	₱7,392.00
265	1	pieces	Wooden chopping board	₱ 1,387.50	₱1,387.50
264	5	pieces	Wood Chopping Board	₱264.00	₱1,320.00
263	4	pieces	WOK SPATULA LADDEN	₱792.00	₱3,168.00
262	4	pieces	Wok Double handle	₱3,960.00	₱ 15,840.00
261	10	pieces	Wok	₱5,280.00	₱52,800.00
260	50	pieces	Wine glass	₱105.60	₱5,280.00
259	6	pieces	WHISKER	₱264.00	₱1,584.00
258	1	pieces	Water Jug Cooler 3 liters capacity	₱300.00	₱300.00
257	14	pieces	Water Jug	₱1,500.00	₱21,000.00
256	200	sets	Water Glass, set	₱79.20	₱15,840.00
255	14	dozens	Water Glass (2 doz per box)	₱1,800.00	₱25,200.00
254	4	pieces	WATER CONTAINER	₱330.00	₱1,320.00

You are therefore required within ten (10) days from the receipt hereof to formally enter into contract with us, and to submit the Performance Security in the form and the amount stipulated in the instruction to Bidders. Failure to comply therewith shall constitute a sufficient ground for cancellation of this award and forfeiture of your Bid Security.

Very truly yours,

Provincial Governor

Received by:

DATE

5/26/2022